Side Panels - Euro Side Panels

1429339.dwg

item ordercode description quantity
1 1429339 ARMREST RH CPL. (EURO) 1
1 1429340 ARMREST LH CPL. (EURO) 1
2 SP1423224 ARMREST PAD LH CPL. 1
2 SP1423221 ARMREST PAD RH CPL. 1
3 1428474-9005 ARM SUPPORT LH CPL. 1
8 1428470-9005 ARM SUPPORT RH CPL. 1
4 1428459-9005 SIDE PANEL MOUNTING LH 1
4 1428465-9005 SIDE PANEL MOUNTING RH 1
5 L32902 LEVER M6 X 10; BLACK 2
6 1430359 Abdeckkappe Seitenteil RH, rechts 1
6 1430211 Abdeckkappe Seitenteil LH, links 1

@ Storm3

Yes, you can!

- Wednesday 07/20/2005 -

-81-




Side Panels - Standard Side Panels

Seitenteile.dwg
10
|
l 7
- |
—t
8 9
item ordercode description quantity
1-9 NA Armrest assemblies complete »»» see "Standard Armrest assemblies cpl." 2
1 SP1423224 ARMREST PAD LH CPL. 1
1 SP1423221 ARMREST PAD RH CPL. 1
2 1421717-9005 ARM PAD RECEPTACLE LH 1
2 1421716-9005 ARM PAD RECEPTACLE RH 1
3 L31001 HAND KNOB M6 X 10 4
4 Z173189.99 NUT M6 SW-14 4
5 NA »»» see "SIDE PART PLATES COMPLETE WITH ADJUSTMENT" 2
6 1422095-9005 SIDE PART ADJUSTMENT LH CPL. 250-340 MM 1
6 1422096-9005 SIDE PART ADJUSTMENT RH CPL. 250-340 MM 1
6 1422099-9005 SIDE PART ADJUSTMENT LH CPL. 290-380 MM 1
6 1422098-9005 SIDE PART ADJUSTMENT RH CPL. 290-380 MM 1
7 1422092-0002 CONNECTION PIECE 2
8 1415027 CLAMP LEVER M6 X 25 2
9 NA »»» see "SIDE PART RECEPTACLES COMPLETE" 2
9 NA »»» see "SIDE PART RECEPTACLES SINGLE" 2
10 SP1430417 BAG FOR SIDE PANEL LH CPL. 1
10 SP1430416 BAG FOR SIDE PANEL RH CPL. 1
@ Storm3 - Wednesday 07/20/2005 - -82-

Yes, you can!




Side Panels - Side Panels for Standard seatheight

Picture Seat system Seat depth Height Seat width left/ right ordercode
cm cm cm
428007 afg |
LH
Flex 41 34 39 SP1428101
By~ i
% Flex 41 34 39 R&/ SP1428100
——_—
T428097.dg
LH
Standard/Kontur/Flek 41 34 39... SP1428097
Y
Standard/Kontur/Fle 41 34 39... R&/ SP1428096
T
LH
Flex 41 38 39 SP1428103
1428097 .4
RH
Flex 41 38 39 SP1428102
| 428007 g
LH
Standard/Kontur/Flek 41 38 39... SP1428099
e
% Standard/Kontur/Fle 41 38 39... R&/ SP1428098
1421694 .dfg
LH
Flex 41... 34 39 SP1422543
| 421604 d
Flex 41... 34 39 R&/ SP1422542
LH
Standard/Kontur/Flek 41... 34 39... SP1421694
1421694 d
Standard/Kontur/Fle 41... 34 39... R&/ SP1421692
@ Storm3 - Wednesday 07/20/2005 - -83 -

Yes, you can




Picture Seat system Seat depth Height Seat width left/ right ordercode
cm cm cm
1421694.dWg
LH
Flex 41... 38 39 SP1422549
Flex 41... 38 39 R&/ SP1422548
LH
Standard/Kontur/Fle 41... 38 39... SP1421695
1421694.d
Standard/Kontur/Fle 41... 38 39... R& SP1421693
| 421604 dfg
LH
RECARO n.a. 38 n.a. SP1425846
ﬁ_
RECARO n.a. 38 n.a. R&/ SP1425845
v Information: The height of the side parts is setable. Preset is 34cm or 38cm.
* Parts with 34cm are setable between 30cm and 40cm.
* Parts with 38cm are setable between 34cm and 44cm.
@ Storm3 - Wednesday 07/20/2005 - -84 -

Yes, you can



Side Panels - Side part plates complete with side part adjustment

Picture Seat depth Height left/ right ordercode
cm cm
1440707.dwg
LH
41 34 1440707
| 7440707 dwg
41 34 R& 1440708
| 7440707 dwg
LH
41 38 1440705
1440707.dwg
41 38 R& 1440706
= 9570205 |
LH
a1... 34 SP1423702
= 570205 |
a1... 34 R& SP1423222
[~ 4235700dwg |
LH
a1... 38 SP1423703
= 9570205 |
a1... 38 R& SP1423701

v

Information: The height of the side parts is setable. Preset is 34cm or 38cm.
¢ Parts with 34cm are setable between 30cm and 40cm.
¢ Parts with 38cm are setable between 34cm and 44cm.

@ Storm3

Yes, you can

- Wednesday 07/20/2005 -




Side Panels - Side part receptacles complete

Picture Seat width left/ right ordercode
cm
1423227.dwg
LH
39 SP1423227
| 423227 dwg
% 39 R&L SP1423226
| 223227 dwg
LH
39... SP1423225
1423227.dwg
39... R& SP1423223

My

D

Yes, you can

Storm3

- Wednesday 07/20/2005 -

-86 -




Side Panels - Side part receptacles single

Picture Seat width left/ right ordercode
cm
1422114.dwg
1 /& LH
‘ 39 1422115-9005
1422114.dwg
°o 39 RH 1422114-9005
0
1422089.dwg
. / LH
&%\S/ 39... 1422097-9005
| —
// 39... R& 1422089-9005

K

D

Yes, you can

Storm3

- Wednesday 07/20/2005 -

-87-




Side Panels - Side Panels for Arne Jensen-Seats

I

Picture lenght left/ right ordercode
mm
1419658.dwg
LH
300 1419658
| 7419658 dwg
300 R& 1419657
| 7419658 dwg
LH
350 1419660
1419658.dwg
350 R& 1419659
| 7419658 dwg
LH
400 1419662
| 7419658 dwg
400 R& 1419661
1419648.dwg
LH
‘ 300 1419648
T Taoodsang |
‘ 300 R&L 1419647
T Tarooasdng |
LH
‘ 350 53140108
r Taiooasdng |
‘ 350 R&L 5314011
T Tarooasang |
LH
400 5314010

@ Storm3

Yes, you can!

- Wednesday 07/20/2005 -

-88 -




Picture lenght left/ right ordercode
mm
1419648.dwg
400 RH 5314011L

—

@ Storm3

Yes, you can!

- Wednesday 07/20/2005 -

-89 -




Side Panels - Sliding Armrests

SP142585X.dwg

item ordercode description quantity
- SP1425853 KIT SLIDING ARMRESTS PAIR MANUAL 1

- SP1425859 KIT SLIDING ARMRESTS PAIR, F. EL. BACKREST ADJUSTMENT 1

1-5 SP5314641 SLIDING ARMREST LH CPL. 1

1-5 SP5311680 SLIDING ARMREST RH CPL. 1

1 5311680 ARMREST UPHOLSTERY 260 MM 1

1 5314641 ARMREST UPHOLSTERY 320 MM 1

2 1421657-0003 RETAINING WASHER BLACK GALVANISED 4

3 L01055 TUBE END PLUG E 15 X 15 1

4 N04109 SWIVEL JOINT AS 13-M8 RH 2

5 N02194 BUSH BB 1209 DU 8

6 SP1436540 CLOTHING PROTECTOR PAIR SLIDING ARMREST SB=39CM 1

6 SP1436539 CLOTHING PROTECTOR PAIR SLIDING ARMREST SB>39CM 1

7 1429564-9005 FITTING ATTACHMENT LH F. SLIDING ARMREST 1

7 1429563-9005 FITTING ATTACHMENT RH F. MANUAL ADJUSTMENT 1

8 1428057 MOTOR CAP FOR ELECTRIC BACKREST 1

9 1420482 REFLECTOR 1
@ Storm3 - Wednesday 07/20/2005 - -90 -

Yes, you can!






